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Analysis of 1t grouping in nwn; 274 set — sons inheriting first
a  Source:v.1-implying that if there is a son, he alone inherits
i Question (»2an5 97): perhaps it should mean that if there are sons and daughters, they inherit together
ii  Block: is the text (v. 1) needed to teach that a son, without sisters, inherits all?
1 Suggestion: perhaps it is there to teach that a daughter may also inherit
2 Block: that is inferred from v. 2
b Alternate source: v. 3 — implying that if he had a son, the daughters wouldn’t inherit
i Block: perhaps that is just what Tna% nna said,
¢ Alternate source: v. 4 — the one who is closer inherits all
i block: sonis no “closer” - my» — impossible with daughter; ntinRr n7v is itself inferred from the question about oy’
d  alternate source: v. 5: 1311 excludes daughters (as primary heirs)
i challenge: v. 6 — are daughters excluded (i.e. should 0311 be read as “sons” as opposed to “children”?)
1 defense: in the case of a blessing, the meaning is more expansive
Analysis of 1t grouping in mwn; 3t set — paternal brothers inheriting from each other
a  Source:vv.4 <->7
i Challenge: not needed, can be learned from v. 4 (\nnawnn — which is paternal)
ii ~ Answer: indeed; vv. 4 <->7 needed for m2 (that only paternal brothers are bound for oy2’)
Analysis of 2" grouping in mwn; 1%t set — man inherits from his mother (but not the inverse)
a  Source:v.2 —a girl can inherit from mvn if father and mother are from different tribes
i Then:"p that a son inherits from mother as well
it Limitation (based on rule of 177): 2¥pn 12 1™31 — sons and daughters share in inheritance of mother’s estate
1 Challenge: doesn’t p"n accept the rule of ¥7? It is n”nn, as per v. 8
(a) Answer: he would, but here, mvn equates inheritance of father (son exclusively) to that of mother
iii Ruling: several reports of students of 21 who ruled in accord with n»151- 1" overruled (and threatened) them
iv  Story: nvwi N’ met *RY "1 and asked him for source that son inherits mother’s estate exclusively (nmon)
1 Challenge: then should 1131 get 01w 2 in mother’s estate?
(a) Counters:
(i) »an v.9-15 excludes n% (only from father, not mother)
1. Challenge: perhaps that’s only in a case where father married ninb® (she’s not his mother’s 1131)
(i) 27227 v. 9 - 1R PWRI and not NNIR MPVRI
1. Challenge: that is needed to exclude n’99) from discounting 1132
2. Defense: text would have said & n*wry — 1R YwR1 teaches both
a.  Nonetheless: may still refer to a case where a n1n2 (NIR MWRI) married an YR
(iii) 27 v.9— nM210 VAVN is 1Y — not to a mother
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